
l;=g+= sfo{qmd÷cfof]hgfsf] gfd /sd g=kf cGo >f]t :yfg s}=
1= ;dk'/s sf]if   13,060,000.00 

2= nlIft ;d"x ljsf; sfo{qmd   -35%_   8,775,000.00   8,605,000.00      170,000.00 

2=1 dlxnf ljsf; sfo{qmd÷cfof]hgf -10%_   2,455,000.00   2,455,000.00 

2=1=1 l;nfO{ s^fO{ tflnd-ljkGg dlxnf_    200,000.00    200,000.00 j*f g+= 1 b]lv 19

2=1=2
cfwf/e"t sDKo"̂ / tflnd-SLC ptL{)f{ ljkGg 
dlxnf_

    120,000.00     120,000.00 
j*f g+= 1 b]lv 19

2=1=3 ;'wfl/Psf] r'Nxf]    100,000.00    100,000.00 j*f g+= 1 b]lv 19
2=1=4 lgMZf"Ns :jf:Yo lzlj/ :f~rfng     50,000.00     50,000.00 j*f g+= 1 b]lv 19

2=1=5
:jo;]ljs dlxnfx?sf] Ifdtf clea[l$ tyf 
k|f]T;fxg k'/:sf/ 

   150,000.00    150,000.00 
j*f g+= 1 b]lv 19

2=1=6
lzIff ;]jf cfof]u tyf nf]s;]jf cfof]u tof/L sIff  

   150,000.00    150,000.00 
j*f g+= 1 b]lv 19

2=1=7 dft[ lzz' :ofxf/ tflnd sfo{s|d    100,000.00    100,000.00 j*f g+= 1 b]lv 19
2=1=8 afv|f kfng tyf kz" kfng tflnd    100,000.00    100,000.00 j*f g+= 1 b]lv 19
2=1=9 d}galQ,cu/alQ tyf gNnL agfpg] tflnd    100,000.00    100,000.00 j*f g+= 1 b]lv 19

2=1=10
n}lu+s lx+;f ;DalGw sfo{s|d ;r]tgf tyf 
hf]lvddf k/]sf dlxnf ;xof]u sfo{s|d

   100,000.00    100,000.00 
j*f g+= 1 b]lv 19

2=1=11 u'l8of (Doll) agfpg] tflnd -dlxnfx?sf nflu_    100,000.00    100,000.00 j*f g+= 1 b]lv 19
2=1=12 :j]6/, 6f]kL a'gfO{ tflnd -dlxnf_ .     50,000.00     50,000.00 j*f g+= 1 b]lv 19

2=1=13
lszf]/L lzIff tflnd ;~rfng ug]{ :jf:Yo ;DaGwL 
.

   100,000.00    100,000.00 
j*f g+= 1 b]lv 19

2=1=14 k|hgg\ :jf:Yo Pjd\ dlxnf g]t[Tj ljsf; tflnd    100,000.00    100,000.00 j*f g+= 1 b]lv 19
2=1=15 n}lËs lx+;fd'Qm j8f lgdf{0f .    100,000.00    100,000.00 j*f g+= 1 b]lv 19

2=1=16
dlxnfx?sf] nflu kf7]3/ ;d:of /f]syfd tyf 
hgr]tgf hufpg] sfo{s|d  .

   150,000.00    150,000.00 
j*f g+= 1 b]lv 19

2=1=17
dlxnf :jo+ ;]ljsfx?sf nflu vf]k sfo{s|d 
;+rfng jfkt k|f]T;fxg eQf .

    260,000.00     260,000.00 
j*f g+= 1 b]lv 19

2=1=18 Jo'6L kfn{/ tflnd    100,000.00    100,000.00 j*f g+= 1 b]lv 19
2=1=19 ;'Ts]/L ;xof]u sfo{s|d    100,000.00    100,000.00 j*f g+= 1 b]lv 19

2=1=20
;/;kmfO ;r]tgf tflnd tyf v'nf lbzfd'Qm 
If]q #f]if)ff sfo{|sd

    225,000.00     225,000.00 
j*f g+= 1 b]lv 19

2=2
afnaflnsf ljsf; sfo{qmd ÷ cfof]hgf    
-10%_

  2,559,000.00   2,480,000.00       79,000.00 

2=2=1 z}lIfs tyf v]]ns'b ;fdfu|L k|f=lj lawfnox?df    150,000.00    150,000.00 
j*f g+= 1 b]lv 19

2=2=2 %fqj[QL lawfno :t/sf     40,000.00     40,000.00 j*f g+= 1 b]lv 19
2=2=3 afnafnLsf ;DaGwL :jf:Yo lzlj/ ;~rfng     50,000.00     50,000.00 j*f g+= 1 b]lv 19

2=2=4
lszf]/ lszf]/L ;zlQms/)f sfo{qmd -g]t[Tj 
tyf Ifdtf ljsf;_

   100,000.00    100,000.00 
j*f g+= 1 b]lv 19

2=2=5 v]ns"b sfo{qmd    100,000.00    100,000.00 j*f g+= 1 b]lv 19

2=2=6
afn>d pGd"ng, afn lajfx ;DaGwL 
hgr]tgfd'ns sfo{qmd

    90,000.00     90,000.00 
j*f g+= 1 b]lv 19

2=2=7
HIV/AIDS, nfu"kbfy{ b"Jo{;gL k|ylds pkrf/ 
tyf ;r]tgfd'ns sfo{qmd

    80,000.00     80,000.00 
j*f g+= 1 b]lv 19

2=2=8
z}lIfs tyf ef}lts tyf vf@ ;fdfu|L  afn 
ljsf; s]Gb|x?sf] nflu

   150,000.00    150,000.00 
j*f g+= 1 b]lv 19

2=2=9 afnd}qL :yfgLo zf;g ;DalGw sfo{s|d     350,000.00     350,000.00 j*f g+= 1 b]lv 19

2=2=10
k|fylds :jf:Yo . le^fldg P, kf]nLof], cGo 
vf]k tyf lzlj/

   100,000.00    100,000.00 
j*f g+= 1 b]lv 19

2=2=11 vfB tyf ef}lts ;fdfu|L ljt/)f     50,000.00     50,000.00 slknj:t' afn u[x
2=2=12 laBfno :t/Lo afn k':tsfno ;fdu|L ;xof]u .    150,000.00    150,000.00 j*f g+= 1 b]lv 19

2=2=13
afn lbj; tyf,xflhl/ hjfkm,jSt[Tjsnf, g[To 
k|ltof]lutf

    80,000.00     80,000.00 
j*f g+= 1 b]lv 19

2=2=14 z}Ifs e|d0f     40,000.00     40,000.00 j*f g+= 1 b]lv 19
2=2=15 afnSnj u&g tyf Joj:yfkg     80,000.00     80,000.00 j*f g+= 1 b]lv 19
2=2=16 JolQmut #^gf btf{ ;DalGw cleofg     50,000.00     50,000.00 j*f g+= 1 b]lv 19

2=2=17
;/;kmfO{ ;DalGw ;r]tgfd'ns tflnd tyf 
;/;kmfO{ cleofg ;xof]uL ;fdfu|L

   100,000.00    100,000.00 
j*f g+= 1 b]lv 19

2=2=18 lawfnox?df Kof* tyf *:^aLgsf] Joj:yf     80,000.00     80,000.00 j*f g+= 1 b]lv 19
2=2=19 lawfnox?df egf{ cleofg     120,000.00     120,000.00 j*f g+= 1 b]lv 19

2=2=20
j8f:t/df vf]k s]Gb| ;~rfng tyf kf]if0f ;DalGw 
sfo{s|d

   200,000.00    200,000.00 
j*f g+= 1 b]lv 19

2=2=21
db/;f lgdf{0f tyf dd{t ;Def/ j8f g+= !

    62,000.00     50,000.00       12,000.00 
g}d'npn'd db/;fdf cw'/f] sfd 
lgdf{0f tyf dd{t ;Def/ .

2=2=22 afn ljsf; ejg Knfi6/ tyf dd{t j8f g+= ^     50,000.00     40,000.00       10,000.00 z's|/fh k|f=lj - dx'jl/of_ .
2=2=23 lawfno u]6 lgdf{0f j8f g+= ^     25,000.00     20,000.00       5,000.00 >L z'qm/fh k|f=lj= .
2=2=24 afn ljsf; kmlg{r/ Joj:yfkg j8f g+= !@     37,000.00     30,000.00        7,000.00 >L l;$fy{ u'Daf k|f=lj
2=2=25 lawfno sIff sf]7f dd{t j8f g+=!^     125,000.00    100,000.00       25,000.00 >L wd{eQm lg=df=lj

#= k'+lhut vr{ cf=j= 2072.073



2=2=26 lawfno sDkfp08jfn tyf u]6 j8f g+= !(    100,000.00     80,000.00       20,000.00 >L hgtf k|f=lj= ad]{nL .
afnaflnsf tkm{ hDdf   2,559,000.00   2,480,000.00       79,000.00 

2=3

lk%l*Psf ju{ -h]i& gful/s, leGgIfdtf 
ePsf, blnt, cflbaf;L÷hghflt, d"l:nd, 
lk%*fju{, dw]zL, of}lgs tyf n}+lus 
cNk;+Vos_ sfo{qmd÷cfof]hgf -15%_

   3,761,000.00    3,670,000.00       91,000.00 

2=3=1 afv|f kfng tyf kz" kfng tflnd    200,000.00    200,000.00 j*f g+= 1 b]lv 19
2=3=2 a]df};dL t/sf/L, Rofp v]tL tflnd    250,000.00    250,000.00 j*f g+= 1 b]lv 19

2=3=3
;/;kmfO ;r]tgf tflnd tyf v'nf lbzfd'Qm 
If]q #f]if)ff sfo{|sd

   600,000.00    600,000.00 
j*f g+= 1 b]lv 19

2=3=4
cfwf/e"t sDKo"̂ / tflnd-SLC ptL{)f{ 
lk%l*Psf au{ 

    120,000.00     120,000.00 
j*f g+= 1 b]lv 19

2=3=5 xfp; jfol/u+ tflnd    200,000.00    200,000.00 j*f g+= 1 b]lv 19
2=3=6 ckféd}qL laz]if sfo{s|d    100,000.00    100,000.00 j*f g+= 1 b]lv 19
2=3=7 ko{̂ g ufO* ;DalGw tflnd     70,000.00     70,000.00 j*f g+= 1 b]lv 19
2=3=8 a}b]lzs /f]huf/ tflnd    180,000.00    180,000.00 j*f g+= 1 b]lv 19
2=3=9 nfdv'̂ ^ lgoGq)f sfo{qmd    150,000.00    150,000.00 j*f g+= 1 b]lv 19
2=3=10 nf]s;]jf ;fdfu|L Joj:yfkg tyf tof/L sIff    140,000.00    140,000.00 j*f g+= 1 b]lv 19
2=3=11 d'lt{ agfpg] tflnd -dlxnf, k'?if_ .    100,000.00    100,000.00 j*f g+= 1 b]lv 19
2=3=12 cfO{=lk=Pd= tflnd    150,000.00    150,000.00 j*f g+= 1 b]lv 19
2=3=13 %fqa[lQ -pRr lzIff_     130,000.00     130,000.00 j*f g+= 1 b]lv 19
2=3=14 kz' kfng tflnd tyf EoflS;g]zg .    140,000.00    140,000.00 j*f g+= 1 b]lv 19
2=3=15 hf]8L tflnd --dlxnf / k'?if b'a}sf nflu_ .    100,000.00    100,000.00 j*f g+= 1 b]lv 19

2=3=16
lzIff ;]jf cfof]u tyf nf]s;]jf cfof]u tof/L sIff 
.-dlxnf k'?if_

    120,000.00     120,000.00 
j*f g+= 1 b]lv 19

2=3=17 h]i7 gful/s nlIft sfo{s|d    150,000.00    150,000.00 j*f g+= 1 b]lv 19
2=3=18 d'l:nd nlIft sfo{s|d    100,000.00    100,000.00 j*f g+= 1 b]lv 19

2=3=19
vfg]kfgL Joj:yfkg -x])*kDk vl/b tyf 
ljt/)f_

   300,000.00    300,000.00 
j*f g+= 1 b]lv 19

2=3=20 O{gf/ dd{t j8f g+= #     25,000.00     20,000.00       5,000.00 nIdL gf/fo0f dlGb/ cuf8L_ .
2=3=21 db/;f dd{t j8f g+= ^     62,000.00     50,000.00       12,000.00 nlDtof ufp+sf] db/;f .
2=3=22 db/;fdf zf}rfno lgdf{0f j8f g+= & .     50,000.00     40,000.00       10,000.00 ld;jfx'n db/;f, ab{xjf_ .
2=3=23 laB'tLs/0f la:tf/ j8f g+= !@     50,000.00     40,000.00       10,000.00 la;De/k'/ ufpF_ .
2=3=24 O{gf/sf] 9Ssg lgdf{0f j8f g+= !#     37,000.00     30,000.00        7,000.00 sf]bxjf / aL/k'/ uf+pdf .

2=3=25 s/anfsf] hUuf ;+/If0fsf nflu lkn/ tyf tf/jf/ 
j8f g+= !^,!*

    50,000.00     40,000.00       10,000.00 
s/anf, ?wf}nf

2=3=26 ;fd'bflos ejg dd{t ;+ef/ j8f g+= (,!!    187,000.00    150,000.00       37,000.00 dx'jf / ;'v/fdk'/

3=
cfly{s, ;fdflhs Pj+ ef}lts k"jf{wf/ ljsf; 
M

  15,760,000.00   13,360,000.00    2,400,000.00 

3=1 gfnL lgdf{)f j*f g+= 1    500,000.00    400,000.00      100,000.00 
gofF6f]n cGtu{t /x]sf] d'n u8xf 
b]lv k'/fgf] e'dL;'wf/ sfof{no cuf8L 
qm;8«]g ;Dd gfnL lgdf{0f .

3=2 ;*s lk=l;=;L= tyf gfnL lgdf{)f j*f g+= 2    500,000.00    400,000.00      100,000.00 
/fdhfgsL dlGb/sf] rf/}tk{m / 
an/fd s;f}wgsf] 3/ x'+b} zf}sLnfn 
snjf/sf] 3/ ;Dd_ .

3=3 kSsL gfnL lgdf{)f j*f g+= 3    500,000.00    400,000.00      100,000.00 dfnkf]t sfof{no b]lv lai0f' l;Ub]nsf] 
3/ ;Dd_ .

3=4 ;*s lk=l;=;L= j*f g+= 4    500,000.00    400,000.00      100,000.00 laBf lgjf; lqkf7Lsf] 3/ b]lv uf}9L 
rf}s x'+b} k"j{ /fh]z l;+xsf] 3/ ;Dd 

3=5 df^f] k^fg j*f g+= 5    500,000.00    400,000.00      100,000.00 x/b]j sf]xf/sf] 3/ b]lv hd'jf/ vf]nf 
;Dd  .

3=6
;*s df^f] k^fg, u|]en tyf x\o'dkfO{k j*f 
g+= 6

   500,000.00    400,000.00      100,000.00 nlDtof ufp+sf] blIf0f a/xTyL /]xf/ 
;Dd / xlb{xjf ;8s ;Dd_ .

3=7
;*s O{§f ;f]lnu+ u/L gfnL lgdf{)f j*f g+= 
7

   500,000.00    400,000.00      100,000.00 
/dtnxf ufp+sf] d'n ;8s b]lv k"j{ 
klZrd  ug]{ / ;u/dfyf jfn ljsf; 
s]Gb| ejgsf] cw'/f] ejg lgdf{0f k'/f 
ug]{ .

3=8 cw'/f] ;*s lk=l;=;L= j*f g++ 8    500,000.00    400,000.00      100,000.00 ;]d/xjf d'n ;8s b]lv s'bfg x'Fb} 
wd{zfnf ;Dd_ .

3=9 ;*s O{§f ;f]lnu+ j*f g+= 9    500,000.00    400,000.00      100,000.00 
 dx'jf ;flaqL >Ljf:tjsf] 3/ b]lv 
sfnL dlGb/ ;Dd / { lstfa'nsf] 3/ 
b]lv dl:hb ;Dd_ .

3=10 ;*s lk=l;=;L= ug]{ j*f g+= 10    500,000.00    400,000.00      100,000.00 ;'/]z s'dL{sf] 3/ b]lv ;do k|;fb 
z'Snfsf] 3/ ;Dd / xlsssf] 3/ b]lv 
sNn'sf] 3/ ;Dd -7'nf] ;8jf_ .

3=11
ejg dd{t tyf afp)*«Ljfn lgdf{)f j*f g+= 
11

   500,000.00    400,000.00      100,000.00 
>L k|fylds laBfno  .

3=12 afn ljsf; ejg lgdf{)f j*f g+= 12    500,000.00    400,000.00      100,000.00 afn ljsf; ejg lgdf{0f -cf}F/lxof 
ufp+sf]_ .



3=13
cw'/f] O{§f ;f]lnu+ tyf kSsL gfnL lgdf{)f 
j*f g+= 13 .

   500,000.00    400,000.00      100,000.00 
sf]bf}xfdf  b'a} u8xf hf]8\g] u/L 

3=14
;*s O{§f ;f]lnu tyf gfnL lgdf{)f j*f g+= 
14

   500,000.00    400,000.00      100,000.00 
emu? sf]/L3/ b]lv pQ/ vlnxfg 
;Dd / a8x/sf] 3/ b]lv emu? 
rdf/sf] 3/ ;Dd  -lkk/L_ .

3=15 ;*s dd{t tyf u|]en j*f g+= 15    500,000.00    400,000.00      100,000.00 lkr ;8s b]lv bnbnxf ufpF x'+b} 
uf]l6xjf ufpF ;Dd_ .

3=16
;*s O{§f ;f]lnu+ tyf gfnL lgdf{)f j*f g+= 
16

   500,000.00    400,000.00      100,000.00  gGb'nfn ofbj sf] 3/ b]lv k'n 
;Dd_ jegL .

3=17 kSsL gfnL lgdf{)f j*F g+= 17    500,000.00    400,000.00      100,000.00 a]nf;k'/ s'Fjf b]lv l;FrfO{ gx/ ;Dd_ 
.

3=18 ;*s lgdf{)f tyf u|]en j*f g+= 18    500,000.00    400,000.00      100,000.00 lkr ;8s b]lv klZrd laBfno tyf 
;+:yf ;Dd  -uf]a/L_ .

3=19 ;*s sfnf]kq] j*f g++ 19    500,000.00    400,000.00      100,000.00 hgtf k|f=lj= /fhs'nf] b]lv l;4Lk'/ 
x'+b} !( sf] l;dfgf ;Dd_ .

3=20 ;+rfng vr{ sG ]̂Gh]G;L     260,000.00     260,000.00 
3=21 gu/ ;/;kmfO tyf kmf]x/d}nf Joj:yfkg   2,800,000.00   2,800,000.00 
3=22 jf?)foGq ;++rfng tyf k|sf]k Joj:yfkg   2,400,000.00   1,900,000.00      500,000.00 

3=23
law"tLs/)f / ;*s alQ Joj:yfkg ;f}o{ phf{ 
;d]t

   800,000.00 
   800,000.00 

4= k|jw{gfTds If]q sfo{s|d   5,749,000.00   5,289,000.00      460,000.00 

4=1
IEC -Pkm=Pd, klqsf,/]l*of] a|f];/ 
_ls|ofsnfk,;f=k,;fj{hlgs ;"g"jfO{

    350,000.00     350,000.00 

4=2 d]zLg/L cf}hf/ tyf pks/)f ;f}o{ phf{ h*fg    200,000.00    200,000.00 

4=3 ko{̂ g k|aw{g    200,000.00    200,000.00 
4=4 cWoog tyf k/fdz{ vr{    300,000.00    300,000.00 
4=5 dfgj ;+;fwg sfo{s|d    300,000.00    300,000.00 
4=6 Xo'd kfOk vl/b tyf Joj:ykg    100,000.00    100,000.00 
4=7 :yfgLo snf,;flxTo ;+:s[lt k|jw{g sfo{s|d     50,000.00     50,000.00 
4=8 clen]v Joj:yfkg     50,000.00     50,000.00 
4=9 nf]s;]jf ;fdfu|L Joj:yfkg tyf tof/L sIff     50,000.00     50,000.00 
4=10 zx/L xl/t gu/L sfo{s|d    300,000.00    300,000.00 
4=11 v]ns'b ljsf; sfo{s|d    100,000.00    100,000.00 

4=12
jftfj/)f d}qL :yfgLo zf;g k|jw{g ;DalGw 
sfo{s|d

    89,000.00     89,000.00 

4=13 ;fj{hlgs hUuf ;/If)f sfo{s|d    300,000.00    300,000.00 
4=14 sfof{no ejg lgdf{)f C)fsf] ;fjf e'Qmflg    300,000.00    300,000.00 

4=15
;fdflhs kl/rfng tyf ;+#+ ;:yfsf] 
;xsfo{df ul/g] km"̂ s/ cfof]hgfx?

  3,060,000.00   2,600,000.00      460,000.00 

4=15=1
 :nf]lkË gfnL lgdf{0f jf8{ g+= ! 

    135,000.00     110,000.00       25,000.00 
 dfw'/L /}bf;sf] #/ b]lv d'n 
gfnL ;Dd /fhk'/ 

4=15=2

;fj{hlgs O{gf/sf] kfgL lgsf; tyf gfnL j8f g+= @

    60,000.00     50,000.00       10,000.00 

 nfndg tdf]nL, czf]s adf{, 
lemGg' u'Kt, hf]t] sfGb' x'+b} hulbz 
k|=sf] 3/sf] k5f8L /x]sf] Ogf/_ .

4=15=3
;8s lk=l;=;L= j8f g+= @

    64,000.00     50,000.00       14,000.00 
 /fw]Zofd sfGb'sf] #/ b]lv 
klZrd z}n]Gb| lu/Lsf] k%f*L . 

70

4=15=4
kSsL gfnL lgdf{0f j8f g+= # 

    72,000.00     60,000.00       12,000.00 
hd'jf/ 6f]n cfz'tf]ifsf] 3/ 
cuf8L_ . 14

4=15=5
gfnL dd{t tyf kfgL lgsf; j8f g+= # .

    37,000.00     30,000.00        7,000.00 
 /fwf >]i7sf] 3/ k5f8Lsf] kfgL 
lgsf;_ .

4=15=6
gfnL lgdf{0f j8f g+= $

    82,000.00     70,000.00       12,000.00 
dfnkf]t sfof{no b]lv s[lif a}Í 
/f]8 ;Dd gfnL lgdf{0f .

4=15=7
gfnL lgdf{0f -:nf]k gfnL_ j8f g+= $

    72,000.00     60,000.00       12,000.00 
/]jtL kGyLsf] 3/ b]lv 8f]/ 
k|;fbsf] 3/ ;Dd gfnL lgdf{0f -
:nf]k gfnL_ .

4=15=8
;8s O{§f ;f]lnÍ j8f g+= %

    62,000.00     50,000.00       12,000.00 
df]5' s'dL{sf] 3/ b]lv ;fu/tfnsf] 
5]p ;Dd O{§f ;f]lnÍ .

4=15=9
 ;8s O{§f ;f]lnÍ j8f g+= %

    62,000.00     50,000.00       12,000.00 
 dVvg wf]aLsf] #/ b]lv 
rGb|kfn ofbjsf] #/ ;Dd O{§f 
;f]lnu+ . 

4=15=10
;8s O{§f ;f]lnË j8f g++ ^

    125,000.00    100,000.00       25,000.00 
d'n ;8s b]lv aiff{tL s'dL{sf] 3/ 
b]lv /fdd0fL s'dL{sf] 3/ ;Dd_ 
nlDtof .

4=15=11
kSsL gfnL lgdf{0f j8f g+= &

   100,000.00     80,000.00       20,000.00 
wgO{sf] 3/ b]lv sNn' sxf+/sf] 3/ 
;Dd / lrtO{sf] 3/ b]lv 
lemgd'gsf] 3/ ;Dd . ab{xjf_ .

4=15=12
df6f] k6fg tyf u|]en++ j8f g & 

    25,000.00     20,000.00       5,000.00 
buf{ dlGb/ b]lv ;'bfdf a9O{sf] 3/ 
;Dd . -;fu/6f]n_ .



4=15=13
df6f] k6fg tyf O{§ ;f]lnË j8f g+= *

    62,000.00     50,000.00       12,000.00 
;]dx/jf lg/x'sf] 3/ b]lv l;FrfO{ 
gx/ ;Dd_ .

4=15=14
;8s O{§f ;f]lnË j8f g+= *

    62,000.00     50,000.00       12,000.00 
;]d/xjf dfg] ofbjsf] 3/ b]lv 
a/;ft' sf]/Lsf] 3/ ;Dd_ .

4=15=15

cw'/f] O{§f ;f]lnË j8f g+= (

    125,000.00    100,000.00       25,000.00 

5f]6sL tf}lnxjf zf]ef sf]/Lsf] 3/ 
b]lv a}t'Nnfx u2Lsf] 3/ ;Dd / 
lqj]gLsf] 3/ b]lv cDa|Lz 
ltjf/Lsf] 3/ ;Dd_ .

4=15=16
;8s O{§f ;f]lnË ug]{ j8f g+= !)

    62,000.00     50,000.00       12,000.00 
7'nf] l;sf]6jfsf] ch{'g a9O{ b]lv 
tf/f k|;fb ld>sf] 3/ ;Dd .

4=15=17 gfnL lgdf{0f ug]{ j8f g+= !)     62,000.00     50,000.00       12,000.00 ;fgf] l;sf]6jf uf+pdf .
4=15=18 gfnL lgdf{0f ug]{ j8f g+= !)     62,000.00     50,000.00       12,000.00 7'nf] ;8jf 

4=15=19
;8s O{§f ;f]lnË . -uNnL af6f]_ j8f g+= !!

    125,000.00    100,000.00       25,000.00 
nIdLgu/sf] ;Dk"0f{ ufpFdf -uNnL 
af6f}_ .

4=15=20
kSsL gfnL lgdf{0f j8f g+= !@

    125,000.00    100,000.00       25,000.00 
gofF af6f] b]lv zDe' a9O{sf] 3/ 
;Dd_ hdf]x/L .

4=15=21
df6f] k6fg tyf u|fe]n ug]{ j8f g+= !#

    125,000.00    100,000.00       25,000.00 
d}g'Nnfx gfpsf] 3/ b]lv k"j{ 
;f]dO{ sxf/sf] 3/ ;Dd 

4=15=22
 ;8s ;Dd O{§f ;f]lnË ug]{ j8f g+= !$

    72,000.00     60,000.00       12,000.00 
/fdk|;fb sf]xf/sf] 3/ b]lv x'nfsL 
;8s ;Dd -uf]kfnk'/_ .

4=15=23
;Dd O{§f ;f]lnË ug]{ j8f g+= !$

    72,000.00     60,000.00       12,000.00 
nf};f lzj k|;fb rdf/sf] 3/ b]lv 
lj>fd sf]/Lsf] 3/ ;Dd

4=15=24
;8s dd{t j8f g+= !%

    72,000.00     60,000.00       12,000.00 
bnbnxf ufp+sf] d]g/f]8 b]lv 
l;FrfO{ gx/ ;Dd_ .

4=15=25
;8s dd{t j8f g+= !% 

    72,000.00     60,000.00       12,000.00 
lzjk'/f d]g gx/ b]lv s'g 
gf/fo0fsf] 3/ ;Dd_ .

4=15=25
;8s dd{t j8f g+= !%

    72,000.00     60,000.00       12,000.00 
uf]l6oxjf cd[tnfnsf] 3/ b]lv 
s[t/fhsf] 3/ ;Dd_ .

4=15=26
;8s dd{t tyf u|]en j8f g+= !^

   100,000.00    100,000.00 
lkr ;8s b]lv slkojf ufp+ 
;Dd_ .

4=15=27

sRrL ;8s lgdf{0f j8f g+= !&

    72,000.00     60,000.00       12,000.00 

sRrL ;8s lgdf{0f -l;FrfO{ 
gx/sf] k"j{ l8nsf] ;+u} hf]8L s[lif 
sfo{sf] nflu a]nf;k'/ b]lv x/f{xjf 
;Dd_ .

4=15=28
;8s lgdf{0f tyf dd{t j8f g+= !&

    72,000.00     60,000.00       12,000.00 
uf]a/L d'/nLsf] xf]6n b]lv ;]d/L 
ufp+sf] l;dfgf ;Dd_ .

4=15=29
;8s O{§f ;f]lnË tyf lk=l;=;L= ug]{ j8f g+= !*

    125,000.00    100,000.00       25,000.00 
uf]a/L ufp+sf] nfndg ofbjsf] 3/ 
b]lv klZrd tk{m cDaLsf k|;fb 
ofbjsf] 3/ ;Dd

4=15=30 ;*s O^f ;f]lnu+ j*f g+= 19     125,000.00    100,000.00       25,000.00 
  /fdfk'/ uf+psf] dfof/fd 
s'dL{sf] #/ b]lv nId)f s'f]/Lsf] 
#/ ;Dd 

4=15=31 lzjfno kl/;/ ;'Gb/Ls/)f     30,000.00     30,000.00 
4=15=32 ;xsfo{df ul/g] cGo    470,000.00    470,000.00 
5= :yf=lj=z"Ns hu]*f sf]if sfo{qmd M  30,000,000.00  10,500,000.00    19,500,000.00 

5=1

;8s O{§f ;f]lnË, lk=l;=;L= tyf kSsL gfnL 
lgdf{0f -j8f g+= @_

  5,000,000.00   1,500,000.00     3,500,000.00 

 k"j{ d'n ;*s b]lv /fds'df/ 
adf{sf] #/ x'+b} lqj])fL sxf/sf] 
#/ ;Dd / k')o kGyLsf] #/ 
x'+b} df]tLnfn kf}*]nsf] #/ 
;Dd_ . 

5=2
;*s sfnf]kq] -j*f g+= 5_

  5,000,000.00   2,000,000.00     3,000,000.00 
x'nfsL ;8s b]lv gx/sf] af6f] x'Fb} 
eujfgbf; df=lj= tyf u0f]z 
u'Ktfsf] 3/ ;Dd

5=3

;*s sfnf]kq] -j*f g+= 11_

  5,000,000.00   2,000,000.00     3,000,000.00 

;'v/fdk'/ lkr ;8s b]lv 
nIdLgu/ gx/ ;Dd cw'/f] lkr 
;8s{ / ;'v/fkd'/ pQ/ kf]v/L 
b]lv k"j{ gx/ ;Dd 

5=4
;*s sfnf]kq tyf ;*s lk=l;=l;- j*f g+= 
13_   5,000,000.00   2,000,000.00     3,000,000.00 

x'nfsL ;8s b]lv aL/k'/ x'+b} 
dfnkf/f rf}s ;Dd /-dfnkf/f 
ufpF leq 

5=5 afFw lgdf{0f sne6{ tyf kmf6s lgdf{{0f j8f g+= !^   5,000,000.00   1,000,000.00    4,000,000.00  lzj/fdk'/ uf+p 

5=6 ;*s sfnf]kq] ug]{ j*f g+= 18   5,000,000.00   2,000,000.00     3,000,000.00 
uf]a/L rf}s b]lv ltnf}/f x'+b} 
ltnf}/fsf]6 lkr ;8s ;Dd  .

6=
;*s af]*{ g]kfn sfo{qmd  dd{t ;+ef/ 
sfo{s|d 

  7,430,000.00   2,230,000.00     5,200,000.00 

6=1
;*s sfnf]kq] dd{t j*f g+= 2,10 13

   2,330,000.00    700,000.00     1,630,000.00 
 tf}lnxjf d'n ;*s b]lv 
klZrd l;s]̂ jf,dfnkf/f x'+b} 
lahuf}/L k'n ;Dd . 

6=2
;*s sfnf]kq] dd{t j*f g+= 3,4 / 5

  2,000,000.00    600,000.00    1,400,000.00 
 s[lif ljsf; a}s+ b]lv 4 g+= 
lkr ;*s ;Dd 



6=3
;*s sfnf]kq] dd{t j*f g+= 3,11

  1,600,000.00    480,000.00     1,120,000.00 
 s[lif ljsf; sfof{no b]lv 
;'v/fdk'/ uf+p ;Dd 

6=4
;*s sfnf]kq] dd{t tyf l/u|]en j*f g+= 
10,12

  1,000,000.00    300,000.00      700,000.00 
 SofDk; u]̂  b]lv a'$ d'tL{ 
x'+b} hdf]x/f ;Dd 

6=5
;*s sfnf]kq] dd{t j*f g+= 2,3

   500,000.00    150,000.00      350,000.00 
 rf}s ahf/ b]lv k/;'/fd 
uNnL x'b} d'n ;*s ;Dd 

7 cGo sfo{s||d 642,000.00    330,000.00         312,000.00 
7=1 :jf:Yo lSngLs ;~rfng     312,000.00      312,000.00 
7=2 PsLs[t vfg]kfgL tyf ;/;kmfO{    100,000.00    100,000.00 
7=3 ul/jL lgjf/)f
7=4 cGo bft[ lgsfo     230,000.00     230,000.00 

s"n hDdf k'+lhut vr{   68,356,000.00  40,314,000.00    28,042,000.00 


	2072-73

